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Date : 23rd Nov 2023 Special Question - English Language English

Direction 1 - 5 : In the following question, six 4. SQPR
sentences are given, out of which, sentences Il and 5. QSRP
IV are fixed. Read the passage carefully and
answer the questions given below. Q:3 What is the logical sequence for the D?
A) includes last-mile connectivity (P) as a whole 1. SRQP

and rural transport (Q) This new provision also (R) .

accessibility, mobility (S) 2. PSQR

II) The amendments to the Act voted by 3.RPSQ

Parliament seek to address some of these 4. PQSR

challenges, notably in forming a National 5. QSPR

Transportation Policy and a National Road Safety

Board, providing for stiffer penailties for violation of Q:4 What is the logical sequence for the given
rules, and orderly operation of new-generation coherent passage®?

mobility services that use mobile phone 1. BDA

applications. 2. ADB

B) fast-paced motorization, major shifts in 3. DAC

technology and deteriorating road safety 4. ACD

(P) /remained in hibernation, unable to meet the )

needs of (Q)/ India’s Motor Vehicles Act, 1988 has 5. BAD

(R)/ a large economy that is witnessing rising

travel demand, (S)/ Q:5 What is the logical sequence for the A?
C) driver educational attainment, driving 1. PQSR

experience, and form (P)/ This paper investigated 2. QSPR

the influence of three distinct variables; (Q)/ of 3. RSQP

commission of traffic safety violations in Kumasi, 4. PQRS

Ghana (R)/ of driver training on drivers’ self- 5. RPSQ

reported attitudes towards the frequency (S)/

IV) Also, the Rajya Sabha introduced last-minute
changes, making concurrence of, rather than a
consultation with States necessary when issuing
fresh schemes for national, multimodal, and inter-
state transport.

D) Union Transport Minister Nitin Gadkari has
countered the (P)/ charge that the changes are
anti-federal in character — the proposed

(Q) [reflects the modifications they suggested
(R)/ amendments were reviewed by 18 State
Transport Ministers and the Bill (s)/

Q:1 Find the sentence which does not contribute to
the main idea of the paragraph.

1A

2.D

3.Both Aand C

4.C

b. Both A and B

Q:2 What is the logical sequence for the B?
1. PQRS
2. RQSP
3. QRSP
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2. (2) 3. (4) 4. (1) 5. (5) I

IAnswers and Solutions

Q:1 The correct answer is option 4 i.e. C.

The sentence which does not contribute to the
main idea of the paragraph is sentence C. As the
paragraph is about the amendments to India’s
Motor Vehicles Act, 1988 voted by Parliament. But
the sentence C talks about traffic safety violations
in Kumasi, Ghana.

Thus, the correct answer is 4.

1.(4)

Q:2 The correct answer is option 1i.e. RQSP.

The sentence will start with R, as it talks about the
subject of the sentence, therefore, India’s Motor
Vehicles Act, 1988. Now, has’ in R must be followed
by a past participle and it is given only in Q so, Q
will follow R. Moving ahead, only option 2 starts
with the RQ sequence, hence this will be the
correct logical order.

Hence the logical sentence is - India’s Motor
Vehicles Act, 1988 has remained in hibernation,
unable to meet the needs of a large economy that
is witnessing rising travel demand, fast-paced
motorization, major shifts in technology and
deteriorating road safety.

Q:3 The correct answer is option 4 i.e. PQSR.

Here P and Q make a logical pair where the Union
Transport Minister Nitin Gadkari contradicts an
idea and P will be followed by Q. Moving ahead, S
and R make a logical pair where the proposed
amendments were reviewed and the new Bill
reflects modifications. S and R follow Q
respectively.

Hence, the logical sentence is - Union Transport
Minister Nitin Gadkari has countered the charge
that the changes are anti-federal in character —
the proposed amendments were reviewed by 18
State Transport Ministers and the Bill reflects the
modifications they suggested.

Q:4 The correct answer is option 1i.e. BDA.

The coherent passage is about the amendments
to India’s Motor Vehicles Act, 1988 voted by
Parliament. Thus B will be the first sentence after
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rearrangement as it introduces the topic of the
coherent passage. The second sentence is already
fixed here which is talking about the new National
Transportation Policy and a National Road Safety
Board, for new rules. Now, D will follow the second
sentence as the Union Transport Minister Nitin
Gadkari gives a contradictory statement against
the second sentence. Adding to this fourth
sentence is already given and will be followed by
A, which talks about the thing included in the new
provision.

Q:5 The correct answer is option 5 i.e. RPSQ.

The sentence will start with R, as it talks about the
subject of the sentence and, therefore, provision.
Now, “also includes” makes a logical pair thus R will
be followed by P. S mentioned the components
included in the provision which proceeds the P, so,
S follows P. From the alternatives, this sequence is
given in option 5 only.

Hence the logical sentence is - This new provision
also includes last-mile connectivity, accessibility,
mobility as a whole and rural transport.
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